e trial in England was unfair. This was mainly so well prepared. The court also ruled that Helen and
pecause Helen and David were poo¥ compared to a David's right to free expression was violated.

g corporation such as McDonald's, which meant
hat they could not pay for an expensive legal team.
As a result of this, Helen and David’s defence was not

The court awarded Helen and David damages of
nearly £47,000.

" A FAMOUS CASE IN ENGLISH LAW

Bwmrcise 1
Read this information about a famous case from the law of tort in England. Answer the questions that
follow using a full sentence.

e ‘Mclibel’ case

How long did the ‘McLibel' case last?

Answer:
Who was the claimant in this case?

Answer:

who were the two defendants in this case?

Answer.

What global issue were Helen and David worried about?

Answer:

How did Helen and David tell the public about their worries?

Answer:

What claim did Helen and David make concerning McDonald's and the environment?
Answer:

Why did McDonaid's not need proof of damage?

Answer:

What was the decision of the court of first instance?

Answer:

-

Why did the European Court decide that Helen and David's defence was nct $0 well prepared as
McDonald's’ claim?

Answer:

What other ruling did the European Court of Human Rights give in this case?

Answer:
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